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min Z =3X,, +6X,, +4X;
5X 5, +T7X,, +9X 5,

2X 5, +10X 5, +6X 5,
LIX ) + X, +4X 4

s. t. X, +X,,+X,; <10
Xo + X, + X, <12
Xy + X5, +X55 <11
Xy +Xy+X,;514

X+ Xy + X5, +X,, 220
X, + X, + X3 X,y 210

X3+ X X5 +X,5 217
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min Z =3X,, +6X, +4X ,
S5X, +7X,, +9X,,
s. t. X, +X,+X,; <10
Xy + Xy +X,, <12
X +X, 26
X, +X, =28
X3 +X, 28

x. 20, (i=1:2,j=1:3)
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Xy +Xo +X o +X,, <10
Xy + X5 +X53 +X5, <20

Xy +X, +X5, 25
X, Xy +X5, 27
X3 +Xpy+X3329
Xy +Xo +X5, 217
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SX5, H9X 5, +2X 55 +5X 4, +7X 55
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iy +Xp X3 X X =1
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Xq +X5 + X35 +X5 +X55 =1
Xy X +X 45 Xy +X s =1
Xg X5 +X55 +Xg +X55 =1

Xy X, X5 X, X5 =1
Xy +Xp +X5 +X X5, =1
X3 FXp3 X35 +X 5 +X 5 =1
Xy +Xo +X30 +Xy +X4, =1
X5 T X5 + X35 +X 45 +X 55 =1

X; 20, (i,j=L:5)
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min zZ =3X,, +5X,, +8X ; +6X,,

6X,, +4X 5 +9X ) + X,
4X 5, +6X 5, +11X,5; +2X 5,
X4 +4X 5 +5X 5 +6X

X+ X +X5+ X, =1
Xor X g +X 53+ Xy =1
Xap +X5 +X55+X5, =1
Xy X + Xy + Xy =1

Xpp+ X5 X5 +X, =1
Xip +Xp + X5 +Xyy =1
Xi3 X + X35+ X5 =1
Xig + Xy + X5y +Xy =1

X. 20, (i,j=1:4)
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